)

3

4)

®)

(6)

N

8

@

h8 -

79 -

74 =

33 =

83 =

70 -

26 =

Q2 =

06 -

73 -

46 -

63 =

(20

@n

(22)

(23)

24)

(25)

(26)

@7

(28)

29

(30)

3N

(32)

46 =

90 -

44 -

45 =

Q4 -

42 -

29 =

87 =

26 =

43 =

92 -

62 =

55 =

54 -




@

)

4

®)

©)

N

®

@

21

h8 -

79 -

74 =

33 =

83 -

21

70 -

26 =

Q2 =

1

06 -

73 -

46 -

71

63 -

2HT -1 HIR DAY (BEXK)

5= 4
T4 =9
2 =39
+ 5 = 14
7 = 4
+ 6 = 13
=2 = 10
+ 2 = 35
+ 8= 3
3 =30
6 =
+ 3= 3
+ 5 = 14
+ 3 =15
6 = 1
+ 2 = 3

20

@n

(22)

(23)

24)

(25)

(26)

@n

(28)

29

€]

3D

(32)

46 =

00 -

44 -

45 -

04 -

42 =

29 -

87 -

26 =

43 =

92 -

62 -

05 =

54 =



